MA 161 Midterm September 1997

Name: Sla’l'u..-|‘1m k"j LD .#:
Section #: TA's Name:
1. This package contains 8 pages and 14 problems, each worth 7 points. Mark your

3.

4.

answers on the answer sheet, using a #2 pencil. Turn in both this package and your
answer sheet to your recitation instructor.

Be sure to fill in your name, [DH#, Section ##, and the name of your recitation instrie-
tor.

The exam lasts 60 minutes.

No books, notes, or calenlators, please,
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1. The inequality (z — 1){x + 2){x — 1) < 0 is solved by

o  -L ! 3 —nf
X#l | — -+ + +
x=3 |- | = 1 = |+
we-3) =1+ — *
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Ar<-2url<r=<3
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C.=2<zr<lorx>3

Dz<—-3or-l<x<2

E. -3z« -lorxz>2

() A(x-3) 40 —> x<4-2 o | 4x43

2. The solutions of the equation x| = |1 + 22| are

gibher X = 1+2x o XK= [4+2X

=1+ — k=] = X= -]
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_x= 142 — ~Ix=l =X 3
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L ]

Dr=-2and r =

|

E. None of the above
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3. An equation of the line through (1, 2) and perpendicular to the line 3z + 2y < 4 s

A, —dr+2y—4=0
f: — 2y= -3x+4 o> y= 3% H2 tay-d=

.. _3
—> Sldpe 1S A 9z 43y=4

- 2
Perpandicte. slope 1€ 3

E. MNone of the above
Porpondiabon Ba s y-2 = 5 (x-I)
- ?j b = 2x-12

- -2x + 3y = 4

4. The graph of the function f{x) = 1+ |z — 1] looks most like
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1
5. The graph of the function f(r) = —— looks most like:
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6. If f(x) = 9= =% and g(x) = /= — 1, the domain of the product f(x)g(zx) is

(W1zz<3

T
Aeméia u{- -f is 4-x 70 B. l<r<3
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7. Solve the inequality sinz > % for x in [0, 7).

Midterm
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9. If the position of a particle at time ¢ is given by f(t) = 16¢%, its velocity at time ¢ < 1
is

A. 16
Velsity = j_i = L2t} = %t o
(©) s
v(l)= 32 D. —32
E. 64
10. zl-li.“:a E;i-:_ﬂi - g-
A0

lim (E'?)M - b _ B. 1
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' ; z* —1 X i .
I Let f(z) = o and g(z) = 255~ Which of the following statements is
true?
[:;r-\,'ﬁm.r}y Jj_ h g.* 1=l - A. Neither f nor g is continnous at = 1
i h B. Ouly fis contimions at = 1
,‘,_LI hlﬂf f!:l. @Dﬂl}rgiﬁﬂmtinmmsat.z=l

D. Both f amd g are continuous at z = 1
__!: (1) dees ot et honce E. Not enough information
I
-F—"rw‘}‘ caniwURLS af %=l
[im 903 hence g s conhinvaus at % = |,

52|

glo= 0 =

2
12. Hm:‘gnrl\ — =
=+ T

A)o
: 2
Moe: 1w y =0 B. 1
Y=20 C 2
omd  lim m;g does ot exist, p. L
Y= 0 X 4
E. limit does not exist

Use the Squeee thebrem :
-] £ (DS %"‘f £ ‘]EV all f,*ﬂ
..-xi < ;.-,_L (_pji‘r & ;(.L Since X'70 if x#0
i g2 -
lim _y* = lim ‘LL=':’ , 5o bﬂ §5ueest H"'“'J mox0sy =0

=0
Y2 0 =0 7 X
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